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Name

Instructions
« Answer all questions.
+ Use black or dark blue ink or ballpoint pen for written answers.

The number of marks is given in brackets ( ) at the end of each question.

Total mark for the paper is 60 marks.

« Write your answers neatly and in good English.



Answer Questions 1and 2.

In each question, you have to answer part a) and b) and then choose 1 essay from two in
part c).
Question 1.

Study Extract A.

Extract A.

From a modern history book on Nazi Germany.

Through the training of young men and women, the Nazis hoped to create the
new men and women of the People’s Germany. What National Socialist training
produced, however, were duller and stupider, though healthier individuals.

a) What impression does the author give about the impact of Nazi youth policies
on Germany?

You must use Extract A to explain your answer. (6)

(b) Explain two effects on Jews of the Nazi policy of setting up Jewish ghettos. (8)



EITHER

c) i) ‘The most important reason for the failure of the Munich Putsch was Hitler's
poor leadership.’

How far do you agree? Explain your answer. (16)

You may use the following in your answer:

- Hitler's poor leadership
- the German army.

You must also use information of your own.

OR

c) i) ‘The foreign policy of Stresemann was the main reason why Germany
recovered in the 1920s.

How far do you agree? Explain your answer. (16)

You may use the following in your answer:

- the foreign policy of Stresemann
- the Dawes Plan of 1924.

You must also use information of your own.

Total for Question 1= 30 marks.



Question 2.

Study Extract B.

Extract B.

From a modern history website.

You cannot expect to find a written record where Hitler has said ‘Right, 'm
taking the decision here and now to exterminate the Jews.’ It just simply didn’t
work like that, but Hitler's fingerprints are all over the anti-Jewish policy. And
also, when it comes to all the crucial steps, such as deporting the Jews from
Germany to the East, these could not be taken without Hitler's authorisation.
Also, the yellow star on the sleeve of German Jews in September 1940 couldn't
happen unless Hitler approved of it.

a) What impression does the author give about Hitler's role in the treatment of the
Jews?

You must use Extract B to explain your answer. (6)

(b) Explain two effects on Germany of the Treaty of Versailles. (8)




EITHER

c) i) ‘The use of terror was the main reason for Nazi control over German people
between 1933-1939.

How far do you agree? Explain your answer. (16)

You may use the following in your answer:

« the use of terror
» the use of censorship

You must also use information of your own.

OR

c) i) ‘Rationing was the most important impact on the German people of the
Second World War.”

How far do you agree? Explain your answer. (16)

You may use the following in your answer:

- rationing
- war work.

You must also use information of your own.

Total for Question 2 = 30 marks.

Overall total for paper = 60 marks.
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